B2 f/Epoxy A=A BgAwDe 71AF
H2549%7}

AU, o|AF

< B

S

o

ol

O

=l el

y B9 |

ZEMET, 48

A4"

Properties of Mechanical Joint by Carbon Fiber’Epoxy Sandwich
Composite Panels

K. Oh, J. Jeong, S. Lee and S. Cho, J. Kim

Key word : Carbon fiber-epoxy sandwich panel, Mechanical joint, Screw joint, Rivet joint

Abstract
This paper was about experimental test properties by mechnical joint of CF1263/Epoxy Al
honeycomb panels. In case of mechanical joint using screw, nut shall be secured over than
minimize third screw pitch. In case of insert backsheet for increase of joint force, increase
weight for assemble by screw pitch. In case of insert backsheet with CF1263/Epoxy,
predominant save weight and minimazer of displacement by tensile weight moreover

predominant strength. In case of mechanical joint by rivet, rivet of Monobolt has
over-hole in hole of CF1263/Epoxy but rivet of PROTRUDING has predominant of

mechanical joint.

1. A8

HZ AF BFol dAFez dPsHol
7VEA FHRPd e $YPJF, VF, H=23F
T WEZd 714 AR S0 B AF=
3] o] Fojx 1 Qlt.

o8 7HA] HFo]l oy dukEQd 7
AR ARgoz BE A4 dAay
Hol Aot olgd 7| AH HEEYLE 1k
9 UL 8738t EoldAe
H9S st Yol 2T B
ata goH[(1-2].

AAYE 3t s7] Hsl FEAE o
43 stolngl= A FxE A
ESE=E O

» FRUE7|EATY NTHLEHARY

=
=3

[e]
ar
=

=

e A

st gk FA Az Hus & £ e
gio] HAET. B A7E 12k @44%
gl FAAoZ AZAF AFE oFA
A& A3t T ooz AZd AFE
oz @ &FuF YA w9 7
542 2975 PPoz vuy

2. AW

2.1 N8 F7

2 dFe= ¥ 13 o] Back sheet,
Frame, Carbon prepreg Typel & FA]
Hr ol& 1% 29 #o| Rivet# Screw
jointdl] W& Z|AH 5A4E sy A
o]},

=121 =



a9 2 Rivet and screw joint type

2.2 AM&AAT AAPS

AREE YR #de 237 AFLE (F)
= 3tolute] CF1263°|th. CF12632 12k
BAARE 8u FARIF R X3 vy
fr/oZEA 031, 0.07mme] ¥rHo = 3/8%1
2 A 371§ A= qYRE ZoE AME3
o] Co-curing WY2Alo= QEZHolH AHY
< 33d. 29 13 Zo] F 471A FTHE
AdHEE AFL §3en 19 F 1L
2t9] SUS304E H49d 49, 2de
CF12632 6pliesE A9s A9, 312 3t
9] SUS304& 4Pt A, 4 2t
SUS304 Zt#es Add Afold. F&
SUS304¢%1 ZA<$¢ 60mm=z 4L 3lgoHy
CF1263< #4d 9t 80mmet 60mm
€ nAH oz FF3A.

IR m

(1) (2)

LLLLTTTUTRTITTY (]
(3) (4)

29 3 slolmI= ARdY FF

1]

3 Zo] NWATY AAsHAT
1 AAEF B Ad 54

AAFF | CASE | AA%H | A&(mm)
1 A Screw 4
A' Screw 5
9 B Screw 4
B' Screw )
3 C Screw 5
4 D Screw 5
9 E Rivet 6.4
E' Rivet 6.4
1 F Rivet 6.4
Screwe SUS304A1d% RH Metric

Screwelt}. JIS B 0209 tZels &4
M4x0.73% M5%0.8% AF&3I3t. M4<9
9 x+= 0.7mm, HA 91742 3.838mm, 3
20z Hd +0,140mm, &2 FAHFS
3.433mm, Hdl 3E&2x+= +0.090mmo]
. M59 IX= 0.8mm, HA A2
4.826mm, 3&2x+= Hdl +0,150mm,
HA AL 4.361mm, U] F§Eox=
+0.096mme] o,

JS Technology, Inc.®] Alpharetta, Ca,
G42100 Inch-pound Tio]ld EF#AIEZ
AHg-3to] A ZAsHAT

FE 29 £ Fpt olde 2L o=
T 4 Uh

F} _ 092 * Ay
Y
\/1+3{2—d2 (—P +1.155u,)}2
dy " mdy '

D BEUALY §357,

z2YEA T,= AQ9% 2L Joz 78
+ Ao
Tf=%F}{dptan(p'+ﬁ) + dypty} (2)

A7) A, dp : SUAbel a8, ,0’ UM



o] wup#Ezt, g UAle]  gEztow
tanB= P/ndy, n, - UE FHH vl&A
T, d,YE HFA EIAZS T3] A%
7473

ojgt #L A& ol FExY EA
Ty, = Junker S° oJ& ®Ho| FA g
EEQ YE9 {IA F& Al vZAF
£ 0.14~0.182 83t M4x0.7& 3.8
Nmo]al M5%0.82 7.4N-mo|t}. o]ju A
g 29 3 L 3.390NmE &4 &

)

).

ig=
Ribet “?‘7}‘11 =T %6}%23‘1 a9
4= Orlock Series Steel =5

PROTRUDING L64185P°|t}. AgA7}o
2 SAE 100609 ofd =& 3. A
£2 6.4mmo|7 AFHL 660kgl, A7
=% 1140kgf o]t}

719 4 After installation of
PROTRUDING Rivet
AvdelAt9]  Monobolt
series 24| Austentic stainless steel to
BS 3111 394S17% Polished FWA 27}

ag 5% 2711

g AL
1132kgf, Ak

6.4mmo|H JAZAEE

e 978.9kgfo] ).

&
m I |
o'y |
19 5 After installation of

L =
Monobolt Rivet

e g

2.3 ATA 2

ANdB7HE 7] fs) of a9 59 ol
ATE A st BEE R A A3t
ABADE T

A7 AL SUS 304= 3Hglon 35
1,000kgfoll 4] #Hdj 518 MAFZE 0.05mm

ol3t2 A qPs|A F AFE AlFsIh

AFAIGA TE5HE AAELS gt g4
2e 4o nAsY FWFoT WY
¥4 594,
*P

I3 6 A Y

2.4 ARAR

N ERE E 13 2ol £ 9714 B9

o= At Al@AH = Instron 8500
o= AFAVEE 2.00mm/minE 8 T}
zZt Ng v 334 4dS sholen HF
HAES AASE

sdo] W4T W 7AA HF
Ak,

a8 8 AEF AHPY

Z1AA Adge w2 ANFZAFg= ¥
83} o] zo]9} AF139] Delamination
FEEA gk

= 125 =



X 2E cased WE AARE 2 Hs
T34 HAdstsAl ¥A@%S Jeld Aol
RH Metric Screw M4+ YAle 87w
ol49] stFo] Ay YAlolA mpdo] A
3199, RH Metric Screw M5% 2t back
sheet zt#o] 44€E A% HE=R Egxn
RAe WHbo] 23 = g4 et YAkt
So] sulgro] ¥AEP S 3t back sheet
7 4949 A$E HER Ege YA
IMAE FAH wet YAl FEwck
o] A&

X 2 AARF GE AFsF L ¥

) ez | AU
v |
A | RH Metric Screw | 594.3 1.317
A' | RH Metric Screw | 754.7 1.902
B | RH Metric Screw | 432.9 | 0.897
B' | RH Metric Screw | 641.8 1.365
C | RH Metric Screw | 903.0 2.841
D | RH Metric Screw | 752.7 2.441
E PROTRUDING 654.7 3.385
E' Monobolt 638.8 2.136
F PROTRUDING 636.5 3.56
1000 ——— 700
o00 | |mmmolzt o]

800 | [—e—AlE 2]

A A B B c D g E? F
CASE

g 9 AEsT I HuskF e

A'st Do} 22 A9 Y= FEol
SUS304 2t2 SU3dA HAdazs 59
stA Rt D] B9 4 AA9 wFo] T
Aol wet Ay Fo] F7H3

E'el 749 Monobolt2A4 A2 F 4
o] Ego] HWolXt FPozA AFAFA
carbond 57} &3=o] ¥lo] mAw P

PROTRUDINGE ¥ =F2oA 337}
LA 5 o

E¢} FQl ¢ Ex SUS back sheetE 4+
Ue FRT} W o] ZA LA}
g 99 Zo] A9 FATG HJFst
% U9t A9 DY 2L AE A9 F
43t AF3FE 7HA L YAR FALE 24)
ol gztol 7} AR M 4T B4
2 A7 A S8k YA Y E
WAL 71 Aol F=23aF HEA u¢
FHofg Ao oago] A}

O

4, AL
=72 CF1263/Epoxy ¥¢Fulw 34
7 ¥de 7|AFH HAREAHES d4PFe=
37} 3t
1) WAIE 71418 Fd3%E gte A$E Y
Eo Yalake HA 37 o4 FHalof
ok AAAL =ua7] A8l backsheet
£ de 39 HAREE 237 98 £A47)
CRdais=s o] CF1263/Epoxy 2
backsheeti = -°r—‘5 AHgA ol 713
I3+ 5]"6‘0“ e HYPFo] 1 74
;—‘1 2x w3 %-?6}“3}
2) gueo= 7AH A%E &= F$e
Monobolt9] 2]¥& CF1263/Epoxyd &2
¥ A Z oy PROTRUDINGS 943 7]
A AzE 7Hd.
FF 7143 HF did JEEAIRE
F3st d Aol

e

F7
B ERe AARTE AEIATANUAIAY Lo
2 494 =gy
FuEd

1) "Mechanical joint spec.” Boeing spec.

2) "Mechanical joint spec." CASA spec.

3)“T| AL A =2, T2 2003

4) “Avdel Breakstem Systems" Avdel

5) Michael Chun-yung Niu “Airframe Structural Design"
Lockheed Aeronautical System, Hong Kong Conmilit Press
LTD.

— 124 —





